
 

D–3343 / EEC–11 P. T. O. 

No. of Printed Pages : 8 EEC–11 

BACHELOR'S DEGREE 

PROGRAMME (BDP)  

Term-End Examination 

June, 2025 

(Elective Course : Economics) 

EEC-11 : FUNDAMENTALS OF ECONOMICS 

Time : 3 Hours  Maximum Marks : 100 

Note : Attempt questions from all Sections as 

per instructions.  

Section—A 

Note : Answer any two questions from this 

Section. 2×20=40 

1. What is price elasticity of demand ?  

How is it distinct from income elasticity of 

demand ? Explain the factors which 

influence the price elasticity of demand.  
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2. What is production function ? Explain with 

illustration why the law of diminishing 

returns operates. 

3. Explain the concept of national income. 

Which methods are used to measure 

national income in India ? 

4. Discuss the classical approach to the 

quantity theory of money. How is this 

approach distinct from Milton Friedman's 

approach ? 

Section—B 

Note : Attempt any three questions from this 

Section. 3×10=30 

5. Why does trade take place between two 

countries ? Discuss the Ricardian theory of 

comparative cost in this regard. 

6. Distinguish between fiscal deficit and 

budgetary deficit. How is rising fiscal deficit 

in India harmful to the economy ?  
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7. How are wage rates determined in the 

perfectly competitive market ? Why do 

different wage rates prevail in the  

economy ? 

8. Distinguish between monopoly and perfect 

competition. Explain with diagram how a 

competitive firm attains equilibrium in 

short-run. 

9. What is the difference between goods 

market and money market ? How can we 

integrate goods market with money  

markets ? 

Section—C 

Note : Attempt all the questions from this 

Section. 2×15=30 

10.  State the differences between any three of 

the following : 3×5=15 

 (i) Positive Economics and Normative 

Economics 

 (ii) GDP at factor cost and GDP at market 

price 
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 (iii) Micro Economics and Macro Economics 

 (iv) Short-run and Long-run 

 (v) Multiplier and Accelerator 

11. Explain any three of the following : 3×5=15 

 (i) Demand function 

 (ii) Partial equilibrium 

 (iii) Direct taxes 

 (iv) Economic welfare 

 (v) Consumer’s surplus 
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 EEC–11 

Lukrd mikf/k dk;ZØe  

(ch-Mh-ih-) 

l=kar ijh{kk  

twu] 2025 

(,sfPNd ikB~;Øe % vFkZ'kkL=) 

bZ-bZ-lh-&11 % vFkZ'kkL= ds ewy rRo 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A 

Hkkxµd 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj fyf[k,A 2×20=40 

1- ek¡x dh dher yksp D;k gksrh gS \ ;g ek¡x dh vk; yksp 

ls fdl izdkj fHkUu gS \ mu dkjdksa dh O;k[;k dhft, 

tks ek¡x dh dher yksp dks izHkkfor djrs gSaA 
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2- mRiknu Qyu D;k gksrk gS \ ,d m¼j.k }kjk le>kb, fd 

Îkleku izfrQy dk fu;e D;ksa ykxw gksrk gSA 

3- jk"Vªh; vk; dh ladYiuk dks le>kb,A Hkkjr esa jk"Vªh; 

vk; ds ekiu dh dkSu&lh fof/k;ksa dk iz;ksx fd;k tkrk  

gS \ 

4- eqæk ds ifjek.k fl¼kUr ds izfr 'kkL=h; (izfrf"Br) 

n`f"Vdks.k ij ppkZ dhft,A ;g n`f"Vdks.k feYVu ÝhMeSu 

ds n`f"Vdks.k ls fdl izdkj fHkUu gS \ 

Hkkx&[k 

uksV % bl Hkkx ls fdUgha rhu iz'uksas ds mÙkj fyf[k,A 

3×10=30 

5- nks ns'kksa ds chp O;kikj D;ksa gksrk gS \ bl lanHkZ esa fjdkMksZ 

ds rqyukRed ykxr ds fl¼kUr ij ppkZ dhft,A 
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6- jktdks"kh; ?kkVs rFkk ctVh; ?kkVs ds chp vUrj Li"V 

dhft,A Hkkjr esa c<+rk gqvk jktdks"kh; ?kkVk fdl izdkj 

ls vFkZO;oLFkk ds fy, gkfuizn gS \ 

7- iw.kZ izfr;ksxh cktkj esa etnwjh njksa dk fu/kkZj.k fdl izdkj 

gksrk gS \ fdlh Hkh vFkZO;oLFkk esa dbZ izdkj dh etnwjh 

njsa D;ksa izpfyr jgrh gSa \ 

8- ,dkf/kdkj vkSj iw.kZ izfr;ksfxrk esa Hksn dhft,A fp= dh 

lgk;rk ls n'kkZb, fd ,d izfr;ksxh QeZ viuk 

vYidkfyd larqyu fdl izdkj izkIr djrh gSA 

9- oLrq cktkj vkSj eqæk cktkj esa D;k vUrj gksrk gS \ ge 

oLrq cktkj dks eqæk cktkj ds lkFk fdl izdkj lesfdr 

dj ldrs gSa \ 

Hkkxµx 

uksV % bl Hkkx ds lHkh iz'uksa ds mÙkj nhft,A 2×15=30 

10- fuEufyf[kr esa ls fdUgha rhu ds chp vUrj Li"V  

dhft, %   3×5=15 

 (i) izek.koknh vFkZ'kkL= vkSj vkn'kZewyd vFkZ'kkL= 
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 (ii) lk/ku ykxr ij th-Mh-ih- vkSj cktkj dher ij  

th-Mh-ih- 

 (iii) O;f"V vFkZ'kkL= rFkk lef"V vFkZ'kkL= 

 (iv) vYidky vkSj nh?kZdky 

 (v) xq.kd vkSj Rojd 

11- fuEufyf[kr esa ls fdUgha rhu dh O;k[;k dhft, % 

  3×5=15 

 (i) ek¡x Qyu 

 (ii) vkaf'kd larqyu 

 (iii) izR;{k dj 

 (iv) vkfFkZd {kse 

 (v) miHkksDrk dk vfrjsd (vkf/kD;) 

× × × × × 

 

 

 

 

 

 


